APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Payment Number:	Project Manager:	STEVE SONNTAG	Page 1 of	6
DO NOT WRITE IN THIS BOX - TO BE COMPLETED BY CITY ENGINEERING PERSONNEL ONLY TOTAL FROM PAGE: 6 1,500,865.54 ESS RETAINAGE: 39,295.46 ESS RETAINAGE: 1,419,883.45 ESS PREVIOUS PAYMENTS: 1,419,883.45 CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due. CONTRACTOR: S&L UNDERGROUND, INC. DATE NSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contract of payment has been completed in accordance with the contract documents and that the contract of payment for the amount certified. PLEASE PROVIDE THE TIME PERIOD FOR THIS PAYMENT REQUEST: FROM: 11.5-1.7 TO: 12.5-1.7 TO: 13.5-1.7 TO: 13.5	Project: YUMA	DRIVE RESURFACING ASSESSMENT DISTRICT - 20	17	
ESS RETAINAGE: BUBTOTAL: 1461,570,08 ESS PREVIOUS PAYMENTS: 1,419,883.45 CURRENT PAYMENT DUE: CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due. CONTRACTOR: S&L UNDERGROUND, INC. DATE INSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified.	Contract Number:	7850	Payment Number:	6
ESS RETAINAGE: 39, 295. 46 1461, 570, 08 ESS PREVIOUS PAYMENTS: 1,419,883.45 CURRENT PAYMENT DUE: CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due. CONTRACTOR: S&L UNDERGROUND, INC. DATE NSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified.	Υ.			
ESS PREVIOUS PAYMENTS: 1,419,883.45 CURRENT PAYMENT DUE: 1,419,883.45 CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due. CONTRACTOR: S&L UNDERGROUND, INC. DATE INSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contract of is entitled to payment for the amount certified.	TOTAL FROM PAGE	E:6	1,500,865.54	
CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due CONTRACTOR: S&L UNDERGROUND, INC. DATE INSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified. Contractor Contractor	LESS RETAINAGE:		39,295.46	
CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due CONTRACTOR: S&L UNDERGROUND, INC. DATE INSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified. Contractor Contractor	SUBTOTAL:		1461,570.08	
CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due. CONTRACTOR: S&L UNDERGROUND, INC. DATE NSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified. DATE DATE DATE DATE	LESS PREVIOUS PA	AYMENTS:		
CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents and that the current payment is now due. CONTRACTOR: S&L UNDERGROUND, INC. DATE NSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified. DATE DATE DATE DATE	CURRENT PAYMEN	IT DUE:	\$41,686.63	
NSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents and that the contractor is entitled to payment for the amount certified.	The und	dersigned contractor certifies that to the best of his application for payment has been completed in ac at the current payment is now due	cordance with the contract docum	nents,
PLEASE PROVIDE THE TIME PERIOD FOR THIS PAYMENT REQUEST: TO: 12-5-17 DI FASE PROVIDE THE CONTRACTOR/SUBCONTRACTORS THAT WORKED ON PROJECT DURING THIS PERIOD.	The und by this and that	dersigned contractor certifies that to the best of his application for payment has been completed in act the current payment is now due.	cordance with the contract docum	nents,
TO: 12-5-17 DI FASE PROVIDE THE CONTRACTOR/SUBCONTRACTORS THAT WORKED ON PROJECT DURING THIS PERI	The und by this and that CONTRACTOR'S CER The und by this	dersigned contractor certifies that to the best of his application for payment has been completed in act the current payment is now due. RACTOR: S&L UNDERGROUND, INC. TIFICATE FOR PAYMENT: dersigned Inspector certifies that to the best of his application for payment has been completed in act the contractor is entitled to payment for the amount the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the amount in the contractor is entitled to payment for the contractor is entitled to payment for the contractor is entitled to payment in the contractor is entitled to payment for the contractor is entitled to payment in the contractor is entitled to the cont	/her knowledge, the work covered cordance with the contract document certified.	ents,
DI EASE PROVIDE THE CONTRACTOR/SUBCONTRACTORS THAT WORKED ON PROJECT DURING THIS PERI	The under the second se	dersigned contractor certifies that to the best of his application for payment has been completed in act the current payment is now due. RACTOR: S&L UNDERGROUND, INC. TIFICATE FOR PAYMENT: dersigned Inspector certifies that to the best of his application for payment has been completed in act the contractor is entitled to payment for the amount the contractor is entitled to payment for the amount the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the amount that the contractor is entitled to payment for the contractor is entitled to the contractor	/her knowledge, the work covered cordance with the contract document certified.	ents,
	The und by this and that CONTRINSPECTOR'S CER The und by this and that INSPECTOR'S The understand that INSPECTOR'S THE UNIT THE U	dersigned contractor certifies that to the best of his application for payment has been completed in act the current payment is now due. RACTOR: S&L UNDERGROUND, INC. TIFICATE FOR PAYMENT: dersigned Inspector certifies that to the best of his application for payment has been completed in act the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the contractor is entitled to	/her knowledge, the work covered cordance with the contract document certified. // DATE // DATE // DATE FROM: // - 5-	-17
(- 0/0)	The und by this and that CONTRINSPECTOR'S CER The und by this and that INSPECTOR'S PLEASE PROVIDE THE PLEASE PROVIDE THE UNIT OF THE UNIT	dersigned contractor certifies that to the best of his application for payment has been completed in act the current payment is now due. RACTOR: S&L UNDERGROUND, INC. TIFICATE FOR PAYMENT: dersigned Inspector certifies that to the best of his application for payment has been completed in act the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment actors.	/her knowledge, the work covered cordance with the contract document certified. FROM: TO: 12-6 DATE FROM: 12-5-6 KED ON PROJECT DURING THIS	-17
NOTE: SIGNED PAYMENT REQUEST SHALL BE SUBMITTED TO THE ENGINEER/INSPECTOR.	The und by this and that CONTF INSPECTOR'S CER The und by this and that INSPECTOR'S CER THE UNIT THE U	dersigned contractor certifies that to the best of his application for payment has been completed in act the current payment is now due. RACTOR: S&L UNDERGROUND, INC. TIFICATE FOR PAYMENT: dersigned Inspector certifies that to the best of his application for payment has been completed in act the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment for the amount of the contractor is entitled to payment actors.	/her knowledge, the work covered cordance with the contract document certified. FROM: TO: 12-6 DATE FROM: 12-5-6 KED ON PROJECT DURING THIS	-17

STREET ACCOUNT NO. 11435-402-170 STREET ACCOUNT NO. 11435-402-174 STORM ACCOUNT NO. 11435-84-174 SANITARY ACCOUNT NO. 11435-83-173 WATER ACCOUNT NO. 11435-86-179 STORM WQ ACCT NO. 11435-84-174-84500

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYME	NT NO. 6					1	İ		İ	İ	*****		Ī
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT NO. 11435-402-170												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$7,615.00	\$7,615.00		0.00	\$0.00	1.00	\$7,615.00	1.00	\$7,615.00	100.0%
10801	ROOT CUTTING - CURB AND GUTTER (UNDISTRIBUTED)	150.00	L.F.	\$9.00	\$1,350.00		100.00	\$900.00	0.00	\$0.00	100.00	\$900.00	66.7%
10802	ROOT CUTTING - SIDEWALK (UNDISTRIBUTED)	150.00	L.F.	\$9.00	\$1,350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911	MOBILIZATION	1.00	LUMP SUM	\$45,000.00	\$45,000.00		0.00	\$0.00	1.00	\$45,000.00	1.00	\$45,000.00	100.0%
20101	EXCAVATION CUT	3,567.00	C.Y.	\$17.50	\$62,422.50		(283.70)	(\$4,964.75)	3,850.70	\$67,387.25	3,567.00	\$62,422.50	100.0%
20219	BREAKER RUN	1,075.00	TON	\$11.00	\$11,825.00		(839.64)	(\$9,236.04)	1,914.64	\$21,061.04	1,075.00	\$11,825.00	100.0%
20221	TOPSOIL	1,875.00	S.Y.	\$2.90	\$5,437.50		2,990.60	\$8,672.74	0.00	\$0.00	2,990.60	\$8,672.74	159.5%
20303	SAWCUT BITUMINOUS PAVEMENT	475.00	L.F.	\$1.50	\$712.50		401.00	\$601.50	0.00	\$0.00	401.00	\$601.50	84.4%
20322	REMOVE CONCRETE CURB & GUTTER	3,550.00	L.F.	\$2.72	\$9,656.00		428.60	\$1,165.79	3,400.00	\$9,248.00	3,828.60	\$10,413.79	107.8%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	11,035.00	S.F.	\$2.30	\$25,380.50		(1,999.10)	(\$4,597.93)	10,000.00	\$23,000.00	8,000.90	\$18,402.07	72.5%
20701	TERRACE SEEDING	1,875.00	S.Y.	\$1.85	\$3,468.75		2,990.60	\$5,532.61	0.00	\$0.00	2,990.60	\$5,532.61	159.5%
21061	EROSION MATTING, CLASS I, URBAN TYPE A	1,875.00	S.Y.	\$1.45	\$2,718.75		2,990.60	\$4,336.37	0.00	\$0.00	2,990.60	\$4,336.37	159.5%
30201	TYPE "A" CONCRETE CURB & GUTTER	2,380.00	L.F.	\$14.95	\$35,581.00		1,213.80	\$18,146.31	2,200.00	\$32,890.00	3,413.80	\$51,036.31	143.4%
30203	TYPE "X" CONCRETE CURB & GUTTER	1,020.00	L.F.	\$14.95	\$15,249.00		(614.00)	(\$9,179.30)	900.00	\$13,455.00	286.00	\$4,275.70	28.0%
30208	HAND FORMED CONCRETE CURB AND GUTTER (TREE LOCATIONS)	150.00	L.F.	\$30.00	\$4,500.00		128.80	\$3,864.00	0.00	\$0.00	128.80	\$3,864.00	85.9%
30211	TRAFFIC CIRCLE MOUNTABLE CONCRETE CURB AND GUTTER	80.00	L.F.	\$50.00	\$4,000.00		5.00	\$250.00	75.00	\$3,750.00	80.00	\$4,000.00	100.0%
30301	5 INCH CONCRETE SIDEWALK	4,875.00	S.F.	\$5.40	\$26,325.00		867.00	\$4,681.80	4,200.00	\$22,680.00	5,067.00	\$27,361.80	103.9%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	6,160.00	S.F.	\$5.80	\$35,728.00		239.96	\$1,391.77	5,500.00	\$31,900.00	5,739.96	\$33,291.77	93.2%
30340	CURB RAMP DETECTABLE WARNING FIELD	152.00	S.F.	\$25.00	\$3,800.00		0.00	\$0.00	184.00	\$4,600.00	184.00	\$4,600.00	121.1%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3	4,600.00	TON	\$13.80	\$63,480.00		934.20	\$12,891.96	3,848.34	\$53,107.09	4,782.54	\$65,999.05	104.0%
40202	HMA PAVEMENT, TYPE E-1	2,050.00	TON	\$53.60	\$109,880.00		0.00	\$0.00	1,974.44	\$105,829.98	1,974.44	\$105,829.98	96.3%

	NT NO. 6										*****		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40211	TACK COAT	770.00	GAL	\$1.70	\$1,309.00		0.00	\$0.00	700.00	\$1,190.00	700.00	\$1,190.00	90.9%
40410	CONCRETE SPEED HUMP	290.00	S.Y.	\$72.00	\$20,880.00		0.00	\$0.00	283.60	\$20,419.20	283.60	\$20,419.20	97.79%
	SUBTOTALS				\$497,668.50			\$34,456.83		\$463,132.56		\$497,589.39	99.98%
STREET	ACCOUNT NO. 11435-402-174												
20217	CLEAR STONE	1,200.00	TON	\$8.00	\$9,600.00		0.00	\$0.00	390.93	\$3,127.44	390.93	\$3,127.44	32.6%
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$400.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21011	CONSTRUCTION ENTRANCE	8.00	EACH	\$932.00	\$7,456.00		0.00	\$0.00	7.00	\$6,524.00	7.00	\$6,524.00	87.5%
21012	STREET CONSTRUCTION ENTRANCE BERM	2.00	EACH	\$250.00	\$500.00		0.00	\$0.00	1.00	\$250.00	1.00	\$250.00	50.0%
21015	STREET CONSTRUCTION STONE BERM	21.00	EACH	\$250.00	\$5,250.00		0.00	\$0.00	32.00	\$8,000.00	32.00	\$8,000.00	152.4%
21017	SILT SOCK (8INCH) - COMPLETE	15.00	L.F.	\$15.00	\$225.00		0.00	\$0.00	24.00	\$360.00	24.00	\$360.00	160.0%
21013	STREET SWEEPING	1.00	LUMP SUM	\$3,950.00	\$3,950.00		0.00	\$0.00	1.00	\$3,950.00	1.00	\$3,950.00	100.0%
21032	INLET PROTECTION TYPE C - PROVIDE & INSTALL	9.00	EACH	\$40.00	\$360.00		(1.00)	(\$40.00)	9.00	\$360.00	8.00	\$320.00	88.9%
21033	INLET PROTECTION TYPE C - MAINTAIN	18.00	EACH	\$40.00	\$720.00		8.00	\$320.00	0.00	\$0.00	8.00	\$320.00	44.4%
21034	INLET PROTECTION TYPE C - REMOVE	9.00	EACH	\$40.00	\$360.00		(1.00)	(\$40.00)	9.00	\$360.00	8.00	\$320.00	88.9%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	24.00	EACH	\$105.00	\$2,520.00		2.00	\$210.00	5.00	\$525.00	7.00	\$735.00	29.2%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	48.00	EACH	\$50.00	\$2,400.00		7.00	\$350.00	0.00	\$0.00	7.00	\$350.00	14.6%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	24.00	EACH	\$50.00	\$1,200.00		2.00	\$100.00	5.00	\$250.00	7.00	\$350.00	29.2%
50401	12 INCH TYPE I RCP STORM SEWER PIPE	129.00	L.F.	\$72.00	\$9,288.00		0.00	\$0.00	131.00	\$9,432.00	131.00	\$9,432.00	101.6%
50432	12 INCH TYPE II PAVEMENT STORM SEWER PIPE	117.50	L.F.	\$72.00	\$8,460.00		0.00	\$0.00	117.00	\$8,424.00	117.00	\$8,424.00	99.6%

	NT NO. 6	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50741	TYPE H INLET	14.00	EACH	\$2,300.00	\$32,200.00		0.00	\$0.00	14.00	\$32,200.00	14.00	\$32,200.00	100.0%
	SUBTOTALS			•	\$86,489.00			\$900.00	•	\$73,762.44	=	\$74,662.44	86.33%
STORM	ACCOUNT NO. 11435-84-174												
50211	SELECT BACKFILL FOR STORM SEWER	1,725.50	T.F.	\$0.01	\$17.26		0.00	\$0.00	1,662.00	\$16.62	1,662.00	\$16.62	96.3%
20312	REMOVE CATCHBASIN	1.00	EACH	\$583.00	\$583.00		0.00	\$0.00	1.00	\$583.00	1.00	\$583.00	100.0%
20313	REMOVE INLET	6.00	EACH	\$470.00	\$2,820.00		0.00	\$0.00	6.00	\$2,820.00	6.00	\$2,820.00	100.0%
20314	REMOVE PIPE (STORM)	212.00	L.F.	\$22.00	\$4,664.00		0.00	\$0.00	212.00	\$4,664.00	212.00	\$4,664.00	100.0%
20336	PIPE PLUG (STORM)	2.00	EACH	\$220.00	\$440.00		0.00	\$0.00	2.00	\$440.00	2.00	\$440.00	100.0%
20502	ADJUST CATCHBASIN	2.00	EACH	\$268.00	\$536.00		0.00	\$0.00	1.00	\$268.00	1.00	\$268.00	50.0%
50402	15 INCH TYPE I RCP STORM SEWER PIPE	441.00	L.F.	\$73.00	\$32,193.00		0.00	\$0.00	440.00	\$32,120.00	440.00	\$32,120.00	99.8%
50403	18 INCH TYPE I RCP STORM SEWER PIPE	117.50	L.F.	\$76.00	\$8,930.00		0.00	\$0.00	118.00	\$8,968.00	118.00	\$8,968.00	100.4%
50404	21 INCH TYPE I RCP STORM SEWER PIPE	370.00	L.F.	\$81.00	\$29,970.00		0.00	\$0.00	370.00	\$29,970.00	370.00	\$29,970.00	100.0%
50405	24 INCH TYPE I RCP STORM SEWER PIPE	146.50	L.F.	\$86.00	\$12,599.00		0.00	\$0.00	147.00	\$12,642.00	147.00	\$12,642.00	100.3%
50433	15 INCH TYPE II PAVEMENT STORM SEWER PIPE	43.50	L.F.	\$72.00	\$3,132.00		0.00	\$0.00	43.00	\$3,096.00	43.00	\$3,096.00	98.9%
50434	18 INCH TYPE II PAVEMENT STORM SEWER PIPE	252.00	L.F.	\$76.00	\$19,152.00		0.00	\$0.00	251.00	\$19,076.00	251.00	\$19,076.00	99.6%
50436	24 INCH TYPE II PAVEMENT STORM SEWER PIPE	46.00	L.F.	\$85.00	\$3,910.00		0.00	\$0.00	45.00	\$3,825.00	45.00	\$3,825.00	97.8%
50499	CONCRETE COLLAR	1.00	EACH	\$500.00	\$500.00		0.00	\$0.00	1.00	\$500.00	1.00	\$500.00	100.0%
50723	3'X3' STORM SAS	6.00	EACH	\$4,125.00	\$24,750.00		0.00	\$0.00	5.00	\$20,625.00	5.00	\$20,625.00	83.3%
50726	6'X6' STORM SAS	1.00	EACH	\$7,560.00	\$7,560.00		0.00	\$0.00	1.00	\$7,560.00	1.00	\$7,560.00	100.0%
50762	TERRACE INLET TYPE II	1.00	EACH	\$3,340.00	\$3,340.00		0.00	\$0.00	1.00	\$3,340.00	1.00	\$3,340.00	100.0%
50792	STORM SEWER TAP	2.00	EACH	\$738.00	\$1,476.00		0.00	\$0.00	2.00	\$1,476.00	2.00	\$1,476.00	100.0%
50801	UTILITY LINE OPENING	15.00	EACH	\$570.00	\$8,550.00		0.00	\$0.00	11.00	\$6,270.00	11.00	\$6,270.00	73.3%
90030	3'X6' STORM SAS	3.00	EACH	\$5,350.00	\$16,050.00		0.00	\$0.00	3.00	\$16,050.00	3.00	\$16,050.00	100.0%
	SUBTOTALS			•	\$181,172.26		•	\$0.00		\$174,309.62	=	\$174,309.62	96.21%

	NT NO. 6										*****		
		1	2	3	4	5 	6	7	8	9	#10	11 	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
SANITA	RY ACCOUNT NO. 11435-83-173												
20311	REMOVE SEWER ACCESS STRUCTURE	13.00	EACH	\$785.00	\$10,205.00		0.00	\$0.00	12.00	\$9,420.00	12.00	\$9,420.00	92.3%
20314	REMOVE PIPE (SANITARY)	161.00	L.F.	\$30.00	\$4,830.00		0.00	\$0.00	161.00	\$4,830.00	161.00	\$4,830.00	100.0%
20335	ABANDON SEWER PIPE WITH SLURRY	0.50	C.Y.	\$2,100.00	\$1,050.00		0.00	\$0.00	0.50	\$1,050.00	0.50	\$1,050.00	100.0%
50212	SELECT BACKFILL SANITARY SEWER	3,068.00	T.F.	\$0.01	\$30.68		0.00	\$0.00	3,029.00	\$30.29	3,029.00	\$30.29	98.7%
50301	8" PVC SEWER PIPE (SDR 35)	2,018.00	L.F.	\$89.00	\$179,602.00		0.00	\$0.00	2,024.00	\$180,136.00	2,024.00	\$180,136.00	100.3%
50354	SANITARY SEWER LATERAL (SDR 35)- RESURFACING	1,050.00	L.F.	\$29.00	\$30,450.00		0.00	\$0.00	1,050.00	\$30,450.00	1,050.00	\$30,450.00	100.0%
50355	RECONNECT	37.00	EACH	\$2,425.00	\$89,725.00		0.00	\$0.00	38.00	\$92,150.00	38.00	\$92,150.00	102.7%
50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$9,200.00	\$9,200.00		0.00	\$0.00	1.00	\$9,200.00	1.00	\$9,200.00	100.0%
50701	4' DIA SAS	14.00	EACH	\$3,325.00	\$46,550.00		0.00	\$0.00	13.00	\$43,225.00	13.00	\$43,225.00	92.9%
50791	SANITARY SEWER TAP	7.00	EACH	\$1,184.00	\$8,288.00		0.00	\$0.00	6.00	\$7,104.00	6.00	\$7,104.00	85.7%
50390	SEWER ELECTRONIC MARKERS	82.00	EACH	\$73.00	\$5,986.00		0.00	\$0.00	86.00	\$6,278.00	86.00	\$6,278.00	104.9%
	SUBTOTALS			=	\$385,916.68	!	•	\$0.00	:	\$383,873.29	: :	\$383,873.29	99.47%
WATER	ACCOUNT NO. 11435-86-179												
50801	UTILITY LINE OPENING (ULO)	1.00	EACH	\$570.00	\$570.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70001	FURNISH AND INSTALL 4 INCH PIPE & FITTINGS	20.00	L.F.	\$102.00	\$2,040.00		0.00	\$0.00	11.50	\$1,173.00	11.50	\$1,173.00	57.5%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	120.00	L.F.	\$89.00	\$10,680.00		0.00	\$0.00	119.50	\$10,635.50	119.50	\$10,635.50	99.6%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	2,440.00	L.F.	\$95.00	\$231,800.00		0.00	\$0.00	1,991.50	\$189,192.50	1,991.50	\$189,192.50	81.6%
70030	FURNISH AND INSTALL 4-INCH WATER VALVE	1.00	EACH	\$1,290.00	\$1,290.00		0.00	\$0.00	1.00	\$1,290.00	1.00	\$1,290.00	100.0%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	9.00	EACH	\$1,583.00	\$14,247.00		0.00	\$0.00	7.00	\$11,081.00	7.00	\$11,081.00	77.8%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	11.00	EACH	\$2,050.00	\$22,550.00		0.00	\$0.00	14.00	\$28,700.00	14.00	\$28,700.00	127.3%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	6.00	EACH	\$4,173.00	\$25,038.00		0.00	\$0.00	6.00	\$25,038.00	6.00	\$25,038.00	100.0%
70053	REPLACE 1-INCH COPPER SERVICE LATERAL	3.00	EACH	\$3,542.00	\$10,626.00		0.00	\$0.00	4.00	\$14,168.00	4.00	\$14,168.00	133.3%

PAYMEN	ACT NO. 7850 NT NO. 6					I	1		İ		*****		I
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70056	RECONNECT 1-INCH SERVICE LATERAL	38.00	EACH	\$1,002.00	\$38,076.00		0.00	\$0.00	31.00	\$31,062.00	31.00	\$31,062.00	81.6%
70057	RECONNECT 1 ½-INCH SERVICE LATERAL	1.00	EACH	\$1,280.00	\$1,280.00		0.00	\$0.00	1.00	\$1,280.00	1.00	\$1,280.00	100.0%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	6.00	EACH	\$1,435.00	\$8,610.00		0.00	\$0.00	8.00	\$11,480.00	8.00	\$11,480.00	133.3%
70081	FURNISH EXCAVATION AND DITCH FOR LIVE TAP	1.00	EACH	\$1,390.00	\$1,390.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70082	CUT OFF EXISTING WATER MAIN	9.00	EACH	\$1,472.00	\$13,248.00		0.00	\$0.00	2.00	\$2,944.00	2.00	\$2,944.00	22.2%
70090	ABANDON WATER VALVE BOX	12.00	EACH	\$163.00	\$1,956.00		0.00	\$0.00	1.00	\$163.00	1.00	\$163.00	8.3%
70101	FURNISH AND INSTALL STYROFOAM	144.00	L.F.	\$13.00	\$1,872.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70104	ADJUST WATER VALVE BOX	1.00	EACH	\$298.00	\$298.00		0.00	\$0.00	3.00	\$894.00	3.00	\$894.00	300.0%
	SUBTOTALS				\$385,571.00	•		\$0.00	•	\$329,101.00	· -	\$329,101.00	85.35%
STORM	NATER QUALITY ACCOUNT NO. 11435-84-	174-84500	=			I.	1		I		1		1
90031	SCREEN TREATMENT DEVICE	1.00	EACH	\$35,000.00	\$35,000.00		0.00	\$0.00	1.00	\$35,000.00	1.00	\$35,000.00	100.0%
CONTRA	ACT TOTALS				\$1,571,817.44	•		\$35,356.83		\$1,459,178.91	•	\$1,494,535.74	9 5.1%
CHANG	E ORDER #1, ACC'T NOS. (SEE BELOW):												
	11435-402-170 - ADDITIONAL MOBILIZATION FOR					İ	Ī		İ		Ì		Í
	CURB & GUTTER - ADDITIONAL MOBILIZATION FOR HMA	1.00	LUMP SUM	\$750.00		\$750.00	1.00	\$750.00	0.00	\$0.00	1.00	\$750.00	100.0%
	PAVING	1.00	LUMP SUM	\$1,200.00		\$1,200.00	1.00	\$1,200.00	0.00	\$0.00	1.00	\$1,200.00	100.0%
	- REMOVE CONCRETE SPEED BUMP SUBTOTAL	400.00	S.Y.	\$5.50		\$2,200.00 \$4,150.00	283.60	\$1,559.80 \$3,509.80	0.00	\$0.00 \$0.00	283.60	\$1,559.80 \$3,509.80	70.9%
	11435-83-173	7.00		*440.00		l ¢770.00	7.00	¢770.00	۱ ۵۵۵	**	7.00	\$770.00	100.0%
	- 16" SANITARY MAIN	7.00	L.F.	\$110.00		\$770.00	7.00	\$770.00	0.00	\$0.00	7.00	\$770.00	100.0%
	CHANGE ORDER #1 TOTAL					\$4,920.00	•	\$4,279.80	•	\$0.00	•	\$4,279.80	=
CHANG	E ORDER #2, ACC'T NO. 11435-86-179												
	- FURNISH AND INSTALL 8-INCH WATER VALVE	1.00	EACH	\$2,050.00		\$2,050.00	1.00	\$2,050.00	0.00	\$0.00	1.00	\$2,050.00	100.0%
GRAND	TOTALS (CONTRACT TOTALS PLUS CHAM	\$1,578,787.44	=		\$41,686.63	:	\$1,459,178.91	: =	\$1,500,865.54	= 95.1%			